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i 0,99 2) 0000101101001

L) 2.8 h) 0000010010010
iii) 1,265 ¢) £000100010101
iv) 3,222 : d) 000001110101 -
b) Givea references fo the fellowing pages by a program, i
0,9,9,18,1,2737,1,2,827,82383, Q6. a) On a disk with 5009 cylincers, rumbers 0 tc 4359, compute the

How meny page fealis will occur if the program has three page
frames available to it and uses Optimal page reclacemerit
algorithm? 4)

rumber of tracks the disk arm must move o 32%isiy aii the requests
8%, 1470, 913, 1774, 548, 1509, 1022, 1759, 139 i the disk queue.
Assume the {ast request sexviced was ai track 143 ard head is

moving towards the track 4699. Perform ths compuietion by using:

'\

" Q5. 2) Cn a simple paging system with 2% tytes of physical memory,
: ple pagng sy: ;

i)  Swapping i

i) FCFS .
25€ pages of foglcal address space and a page size of Np.c byes, i) SSTF
i) Ecwmany bits are iv logica! address? g iii) SCAN
ii) How izany bite in physical zddress speciiy the page frame? iv). LCOX / “)
i) How mauy en‘ries are in. page table? b) What are the major methods of ailccating disk space to the files?
iv} Hew mezy bytes are in a page freme? “ “@
(*4a=4y O
8 X 6 Q7. Write a short note on any four of the following: (2*4=8)
b) In this problem, use binary values, a page size of 2 bytes, and 1 1 i

E.m following page table. | i) Overlays with an example '
| iii) Resource Allocation Graph
Em\vow: : M%MM | iv) Need of disk scheduling
H“ 00001 | v RADI
Tnd. 11011 | ;
-In 11010 s - END -
Out © 10001 /!
Out 10101 |
Out * - 11000
In 00101 , . |

Which of the following virtual addresses would generate a page fault? W
For those that do not generate a page fault, to what physical address W
would they translate? (€]
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